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QUESTION 1

Which protocol provides a method of sharing VLAN configuration information between switches? 

A. VTP 

B. STP 

C. ISL 

D. 802.1Q 

E. VLSM 

Correct Answer: A 

Understanding VLAN Trunk Protocol (VTP) 

Introduction 

VLAN Trunk Protocol (VTP) reduces administration in a switched network. When you configure a new VLAN on one
VTP server, the VLAN is distributed through all switches in the domain. This reduces the need to configure the same
VLAN 

everywhere. VTP is a Cisco-proprietary protocol that is available on most of the Cisco Catalyst series products. 

Reference: http://www.cisco.com/en/US/tech/tk389/tk689/technologies_tech_note09186a0080094c52.shtml 

 

QUESTION 2

Refer to the exhibit. Which problem is indicated by this error? 

A. Two or more networks have been defined in the OSPF process 

B. The same EIGRP process has already been defined on another router 

C. Two or more devices on the network have the same router ID 

D. Two or more interfaces have been assigned to the same network 

Correct Answer: C 

 

QUESTION 3
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Which statement about using the keepalive command on a tunnel interface is true? 

A. It can be configured on either side of the tunnel or on both sides. 

B. It can be configured only on the downstream side of the tunnel. 

C. If it is configured on both sides of the tunnel, the values must match. 

D. It can be configured only on the upstream side of the tunnel. 

Correct Answer: A 

Reference: https://www.cisco.com/c/en/us/support/docs/ip/generic-routing-encapsulation-gre/118370-technote-
gre-00.html 

 

QUESTION 4

An organization is concerned that too many employees are wasting company time accessing the Internet. 

Which access list statement would stop World Wide Web access for employees on the range of subnets from
172.16.8.0/24 to 172.16.11.0/24? 

A. access-list 103 deny tcp 172.16.8.0 0.0.0.3 any eq 80 

B. access-list 103 deny tcp 172.16.8.0 0.0.3.255 any eq 80 

C. access-list 103 deny http 172.16.8.0 0.0.7.255 any 

D. access-list 103 deny tcp any 172.16.8.0 0.0.3.255 eq 80 

E. access-list 103 deny tcp 172.16.8.0 0.0.11.255 any eq 80 

Correct Answer: B 

 

QUESTION 5

What are two benefits of using NAT? (Choose two.) 

A. NAT facilitates end-to-end communication when IPsec is enabled. 

B. NAT eliminates the need to re-address all hosts that require external access. 

C. NAT conserves addresses through host MAC-level multiplexing. 

D. Dynamic NAT facilitates connections from the outside of the network. 

E. NAT accelerates the routing process because no modifications are made on the packets. 

F. NAT protects network security because private networks are not advertised. 

Correct Answer: BF 
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QUESTION 6

What is the default value of the Read-Write-All-SNMP community string? 

A. Secret 

B. Private 

C. Public 

D. Cisco 

Correct Answer: A 

On Catalyst switches such as the 4000, 5000, and 6000 series that run a regular catalyst Operating System (OS),
SNMP is enabled by default with the community strings set to: Read-Only: Public Read-Write: Private Read-Write-all:
Secret Reference: https://www.cisco.com/c/en/us/support/docs/ip/simple-network-management-protocol-
snmp/7282-12.html 

 

QUESTION 7

Which command do you enter so that a switch configured with Rapid PVST + listens and learns for a specific time
period? 

A. switch(config)#spanning-tree vlan 1 max-age 6 

B. switch(config)#spanning-tree vlan 1 hello-time 10 

C. switch(config)#spanning-tree vlan 1 priority 4096 

D. switch(config)#spanning-tree vlan 1 forward-time 20 

Correct Answer: D 

 

QUESTION 8

If host Z needs to send data through router R1 to a storage server, which destination MAC address does host Z use to
transmit packets? 

A. the host Z MAC address 

B. the MAC address of the interface on R1 that connects to the storage server 

C. the MAC address of the interface on R1 that connects to host Z. 

D. the MAC address of the storage server interface. 

Correct Answer: C 

 

QUESTION 9
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Which two components are used to identify a neighbor in a BGP configuration? (Choose two.) 

A. autonomous system number 

B. version number 

C. router ID 

D. subnet mask 

E. IP address 

Correct Answer: AE 

 

Use the show ip bgp neighbors (registered customers only) command to display information about the TCP and Border
Gateway Protocol (BGP) connections and verify if the BGP peer is established. The output of the show ip bgp
neighbors 

command below shows the BGP state as \\'Established\\', which indicates that the BGP peer relationship has been
established successfully. 

R1-AGS# show ip bgp neighbors | include BGP 

BGP neighbor is 10.10.10.2, remote AS 400, internal link BGP version 4, remote router ID 2.2.2.2 BGP state =
Established, up for 00:04:20 BGP table version 1, neighbor version 1 

R1-AGS# 

The show ip bgp neighbors command has been used above with the modifier | include BGP. This makes the output
more readable by filtering the the command output and displaying the relevant parts only. 

In addition, the show ip bgp summary (registered customers only) command can also be used to display the status of all
BGP connections, as shown below. 

R1-AGS(9)# show ip bgp summary 

BGP router identifier 10.1.1.2, local AS number 400 BGP table version is 1, main routing table version 1 

Neighbor V AS MsgRcvd MsgSent TblVer InQ OutQ Up/Down State/PfxRcd 10.10.10.2 4 400 3 3 1 0 0 00:00:26 0 

 

QUESTION 10

Drag and drop the BGP components from the left onto the correct descriptions on the right. 

Select and Place: 
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Correct Answer:  

 

QUESTION 11

What is the effect of the switchport voice vlan 20 command? 

A. It assigns the interface to a voice VLAN 

B. It displays the voice VLAN configuration of the interface 

C. It configures priority tagging for voice traffic on VLAN 20 

D. It configures the interface as an access port 

Correct Answer: A 

 

QUESTION 12

Host is able to ping a web server but it is not able to do HTTP request. 

A. ACL blocking port 23 

B. ACL blocking All ports 
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C. ACL blocking port 80 

D. ACL blocking port 443 

E. None of the above 

Correct Answer: C 
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